Math Placement Sample

Question 1: (1 points)
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Question 2: (1 points)
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Question 3: (1 points)
If 2x+ 2=5y+ 4 then y =
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Question 4: (1 points)

The positive root of the equation x4+ 10 = 29 lies between
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Question 5: (1 points)

One of the factors of 25 W —Bx—3 is
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Question 6: (1 points)
Graph the equation -2 x— 2 ¥ =6

Question 7: (1 points)
Graph w =x— 2|
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Question 8: (1 points)
if =" —kx—Lland f2)=—5 then k=
e -5
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Question 9: (1 points)
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Question 10: (1 points)

If, for all values of »x, (x — Fc:]z = KP4 on+ , then k=
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Question 11: (1 points)
If Ax)=»"+1 and () =4 x+ 2, then Ah3) =
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Question 12: (1 points)
. x—2y=1 )
The graph of the system of equations consists of
SXx+ By =23
two lines intersecting where » = 2.
one line.

two distinct parallel lines.

two lines intersecting where x = 2.
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two lines intersecting where x =1 .

Question 13: (1 points)
If log g =3, then x =
1,000

1
1,000

100

O o0 0o o



Math Placement Sample

Question 14: (1 points)
In the figure shown below, if

sin(P) = 0.37 and p = 4, then R
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Insufficient information is
given to solve this problem.

Question 15: (1 points)

sin(90° — @) =
L zin(8)
e cos(#)
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Question 16: (1 points)
For all real numbers x, c032{4x]+ 31n2(4 X) =
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Question 17: (1 points)

For which value(s) of xintheinterval 0 = x < Zzdoes (cos(x) — 1)(cos(x)—3) =07
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Question 18: (1 points)

Recall that for the triangle AE(C the law of cosines states that =+ —2 b cos()
where a is the length of the side opposite angle £, #&is the length of the side opposite
angle B, and cis the length of the side opposite angle .

In the triangle shown in the figure below, what is cos(F)?

Note: The figure is not drawn to scale.
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Question 19: (1 points)
If Ax)=— 2%+ »° then A — 1) =
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Question 20: (1 points)
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